Name

In each figure, AD is a median. Find x.

Date

AC =18
BD = 6x -2 A
CD=2x+6

Lg*é B

AB =26
BD =3x-2- A
BC = 10x - 12

ABCD is isosceles, with 4B as the vertex angle.

AC=5x+4 -
BD=18x-2 B
CD = 10x

AABD is isosceles, with A as the vertex angle.
AB =16 X
BD =5 g D
AC=24 B -
BC=x

Name a median ~ AF | ¢E |
Name an angle bisector ¢o
Name a perpendicular bisector
AD=2x—4.Findx. _x-7-+
Find EF

Find m£BAD

S N




G is the centroid of 2 ABC, AD = 8, AG = 10, and CD = 18. Find the

fenath of the seament. - - -
1. BD 2. AR 6
3. £G a4 AE
5. (¢ 6. /o b

Challenge Questions
BD, AF, and EC are medians with G as the centroid of the triangle. For each question, find x.
18. (G =3x +7and CF = ax

19. FO=x - Rand AF=0v - g

20. AG =5y~ land DG =dy — 5




